
 

Last time

computed one loop scattering amplitude
in 44 theory with cutoff A Pauli Villars
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Let us denote the sum of logarithms in

egg i and 12 by L and L
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this is how I and xp are related

Question How can we express M

in terms of experimentally
measured xp

rearrange sb to obtain
in iap ice Lot 063
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higher order terms are determined by
plugging 4 into 136 and solving
for coefficients such that this in

plugging 4 into Ca gives
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we now see that M is a function

of L Lo log sols logft.lt tlog uolu
e
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